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B.B.A. V Semester Degree Examination, Sept./Oct. - 2024
MANAGEMENT
SEC4 : Employability Skills
(NEP)

Time : 2 Hours Maximum Marks :

50

Note : Answer all questions.

RReT 1 DR JINCT GVIOX.

Instructions to the candidates
@25@?71@% BRWIN

1. The question paper will be given in the form of a question booklet.
@330@\_%)%03353% TrECH TRITY BRTRNTT.

2. Immediately after the commencement of the examination, the candidate should
check the question booklet supplied to him/her contains all the 50 questions in

serial order.
TOeT TWTOLT I0TT, WPHFOR IIN ATWT JPRT TJFDIFIR, TOdeOTIeR,
@%&'ﬂaﬂ_ﬁ@ 50 @%ﬁ% 5o mmgm@c@ msam%mgsgcs%

3. The question booklet doesnot have unprinted or torn or missing pages (except
space for rough work pages at the end) and if so, he/she should bring it to the

notice of the invigilator and get it replaced by a complete booklet. This is most

important.

@%maﬁm BNOZ SNROTE / TOOHNH / YT AT mme;mol TROOTDROY (523%
mﬁo&mﬁ@dm TVENTTY, TRTD,) TNTY é)m@;ﬁ% BRBR dse@jzsad%d 715353; BRPD
TONR BITATODD), WBORERNR (BRITI, Fe¢ TWOVFW), AW ©3 B[,

4. Blank pages of the booklet/question booklet may be used for rough work/space
for rough work provided at the end of booklet.

TBFDHEOD 30O TN, Be5y, wuodeentg/rough work 1 GVTOIRENTITDTD /328p, YVTORENY
3000 TUNIR, T TFFPFOD BRFONY AeBUONT.

ARAER AR P.T.O.
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5.

10.

11.

Each question is provided with four choices (A), (B), (C) and (D) having one correct
answer. Choose the correct answer and darken the bubble corresponding to the
question number (as shown below correctly) using Ball pen in the OMR answer
sheet provided to you.

TITJ Doey, SORNYI), wBNIINT (A), (B), (C) B (D), @YNFY womd ©o30dw
ROOIRT YLITH/I), BROOT. FOOIIT YWITIJI, SO WY Tz wHNATH OMR $vZT
BIFODY L BT VW, W T, FoBR VIDMEFTN B3 FINT IWRDATTOZ FOTN
BORONZ, PSF VIBPYT.

Correct Method Wrong Methods /20 8:50M$0

BRI | XBOD O®O® 0000
DO@OD ®|B®OD ®O@OD

Each correct answer carries 1 mark and no negative marks for the wrong answers.
ROOIRT YVZTey 200 LOBBI), BRODITI ) 3T m:id% o3oTse INFTOIF WOTNPLRHOY.

No candidate will be allowed to leave the examination hall till the end of the

session without handing over his/her answer sheet (OMR) to the invigilator.
Candidate also has to ensure all the particulars/columns in his/her OMR is
filled correctly before handing over the OMR sheet to invigilator.

wéei TONT J08T @%&"D%D%OSDR‘D% 3RBR 5336@%23365@73 QBT B wéeﬁ ESprveviivvialonsvninielal
BRTROWOT STHT TN, ERTR Fepzdson TIFTATODT), Jewdn BT, 33, OMR
BIOHY BJJHWT DY B S0NT), FOXTIN FRROAGED D0 DB TRIBRHYITI.

Strict compliance of instructions of room supervisor is essential. Any malpractice

or attempt to commit any kind of malpractice in the examination hall will result
in the disqualification of the candidate.

3RTR ﬁb@@smdﬁd BRBING BERNVTI OVRTH @3237135, O3T0zy)TIe 0e3oD 566%3 Cja"’%éé
WFT TOCTY BRTRONYT WIS BIFJOIW WPHEOD OBTEIN TOTLTOMIET.

Use of Simple/Non-Programmable calculators are allowed.

RTY TOBTT VW), WFRWTIW.

In case of any discrepency between English and Kannada versions of the questions,
the English version will be taken as final.

SONLIRT/ VONCT 0B IRB I ENY/ (TJNY) IRS o3wyase BIVANSTD, QONET
©3, 30T, BOSTTN TONBRTY.

English section questions from Q.No : 35 to Q.No : 49 are in English Only. The
rest of the questions are in bilingual form (English + Kannada).

070/ QONCT DN @%mfo T"o. : 35 00T FTo. : 49 NEI], @ogm%mcsg
BYOWTTN. ARN,IT TINYI, QPR (VONCT /SONLRR + TIRZ)BY FeFOLI.
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Employment is a relationship between parties.
emc&r%m@ TENE I T0LWOFTONT.
(A) 4 (B) 3 (C) 2 (D) S

KPSC stands for :

(A) Karnataka Police Service Commission
(B) Karnataka Public Service Centre

(C) Karnataka Public Service Commission
(D) Karnataka Public Service Committee
KPSC 2043

(A) BIoreds TFpedT® Zewo sodnen

(B) 3BoFedd TowF AT Rewo 30T

(C) 3BIoredd Swes Xewmo Sodnen

(D) BZOFEIT TORFWIT B0 TeNd

Example of Employment is :

(A) Private Bank Employee (B) Commercial Tax Inspector
(C) First Division Assistant (D) All of the above

WTRLNE YTRTTER DOTT

(A) 29BN BT wzﬁ.raéeﬂ (B) msé‘a% 307 TONEFTL

(C) T3S TEE THo0PNTD (D) XedT QP

Which of the following exam you have to apply to become a clerk at Grameena
Bank ?

(A) IBPS-RRB-PO (B) IBPS-RRB-Clerk

(C) IBPS-Clerk (D) All of the above

O0CED méo%@’%cg ANWEL %x@)ﬁ 33 YNNI OSo= waeiﬁ wRF 3YTLe 9
(A) IBPS-RRB-PO (B) IBPS-RRB-Clerk

(C) IBPS-Clerk (D) IS DY

Which of the following are not central government exams ?
(A) Commercial Tax Inspector (B) KPSC-Group ‘C’

(C) UPSC-IAS (D) Both option (A) and (B)
83 BYNIYNTY O3RN $¢0T, BFoFT IWATS TOCFODY 7
(A) o8z, 301 BOQeFED (B) KPSC-Rez C’
(C) UPSC-IAS (D) 08, (A) 3 (B) 28GR

ARAER AR P.T.O.
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6. Which of the following are state government exams ?
(A) Panchayat Development Officer
(B) Second Division Assistant
(C) Revenue Inspector
(D) All of the above
83 EINTINYY 0o, TEFT ITERO a‘jéeiﬁﬁﬁo SRR ?
(A) TowoRT @af:)d@@@ 9T0
(B) Q2eod TeEF BHOODTI
(C) Bomwod Q0eTF
(D) 0T PRI

7. KEA Stands for :
(A) Karnataka Examination Authority
(B) Karnataka Exam Academy
(C) Karnataka Exam Authorities
(D) None of the above
KEA 033 :

(A) 3BDRFWE TOeTY TWQTT
(B) BI0FET TOCTY WTVHW

J
g

(C) 3BI0FLT TWOCTY TOPTOON
(D) DT 3w

(.

gg

)
132)

8. Exam pattern for RBI prelims exams is .
(A) Numerical Ability (B) Reasoning Ability

(C) English language (D) All of the above
RBI 0@ 2500 wéeiﬁ@é 5'36663 R[IPTOOID

(A) ﬁoméég mmcﬁés-— (B) =033 mmcﬁér
(C) won R (D) R0 QTR

9. Which of the following exams Railway Recruitment Board (RRB) conducts ?

(A) Traffic Assistant (B) Commercial Apprentice
(C) Goods Guard (D) All of the above

3ENT 030w TWOINTT, S JexT0S TWHTT (RRB) IBRST ?

(A) 0T BT[oONT (B) mséa%/%m&roja@ SRl

(C) AT 2)0H (D) R0 QTR



10.

11.

12.
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What is the format and structure of the KPSC-KAS exam ?

(A) Preliminary examination (B) Personality Test/Interview
(C) Mains exam (D) All of the above

KPSC-KAS T0e303 Z0AT 303 T3S 0 ?

(A) TRIJFLTOX aaei (B) desofoiﬁ mei/mwm

(C) =0, Toeg (D) eI DY

Which among the following is the Specialized Newspaper gives information on
employment ?

FINIPYNYY 030z DJeReooT TEFOI0 emc&raéeri B30 SO aorﬁ\ B0 30N, DETIT ?
(A) Employment News (B) Hindustan Times
(C) The Hindu (D) Times of India

The important magazines for competitive exams preparations are
(A) Competition Success Review (B) Sudha

(C) Pratiyogita Darpan (D) Both option (A) and (C)
ziqm—‘éeﬁ wéeiﬁ@é 30357001 TRNDTWONTIT mzsmeaf

(A) Competition Success Review (B) =go

(C) BdadpeNs wBreo (D) @Oﬂ% (A) &) (C) 2TBR

Instructions for Q.No. 13 to 17.
BRWRNY — Txo. : 13 dow 17.

What comes next in the series ?

88 AT FTY 00TV So&ﬁé/eﬂgd O3PRT ?

13.

14.

15.

16.

17.

5,13,29,61, 125,253, 2 .
(A) 512 (B) 521 (C) 509 (D) 552

196, 200, 209, 234, 283, 404, 573 ? .
(A) 872 (B) 840 (C) 884 (D) 862

24, 48, 144, 576, 2880, P .
(A) 17280 (B) 16640 (C) 14400 (D) 20160

5,5, 15, 75, 525, 4725, ? .
(A) 51795 (B) 50135 (C) 51025 (D) 51975

275, 7Y7,14X9,23W 11,34V 13, ? .
(A) 47T 15 (B) 47U 17 (C) 47U 15 (D) 48U 15

ARAER AR P.T.O.
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18. What is the HCF of 102, 150 & 60 ?

102, 150 303 60 T &0.%0.&. F0BHRND.

(A) 4

19. Find the LCM of 14, 56, 91 and 84.
14, 56, 91 még 84 T ©.%0.9. FoWHROWD.

(A) 2184

(B)

(B)

5

2164

(€) 2 (D)

(C) 2284 (D)

20. Which among the following is not a prime number ?
83 FINTINTY 03D DLV 50935 ®Q 9

(A) 31

21. Simplify : (8597 —?=7429—4358)
X3Oe30% : (8597 — P =7429 —4358)

(A) 5426

(B)

(B)

91

5706

(C) 61 (D)

(C) 5526 (D)

22. 42% of a number is 2457. What is the number ?
20T Sosjéoda 42% R 2457 SNDVST. & ﬁoajé OSRRD ?

(A) 5750

(B)

5800

23. Find the square root of 1369.

136937 mmmwmcl BOTWI™LBCND.

(A) 37

(B)

27

24. Find the cube root of 5832.

5832 T FIDROB/Z, 30TLROWD.

(A) 14
4 3
25. Solve: — — — =
X 2x
Al 1
A
(C) 10
3
OTOR : — — E
Ay 1
@ 5
(C) 10

(B)

18

(B)

(D)

(B)

(D)

(C) 5825 (D)
(C) 23 (D)
(C) 24 (D)
5

None of the above

S
eI BRPTRO VY

2174

71

5476

5850

17

28



26.

27.

28.

29.

30.

31.
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The cost of a bike last year was ¥ 19,000. Its cost this year is ¥ 17,000. Find the
percent decrease in its cost.

TPT D[RE 20 aﬁé%s 238 % 19,000. 8 [IRF 9TT &3S X 17,000. T8 B30I
3eBTOWOTY fae.iﬁﬁojaaiaol FOWR&ERCWO.
(A)  9.5% (B) 10.5% (C) 11.5% (D) 8.5%

Find the total amount to be paid back on a loan of 32,000 at 5.5% per annum for
4 years.

4 IRFNSITN oNF T 5.5%2&%03305 32,000 SRTRONNG 06 sNTVTORERLCTT 2t
mgssael TOTILROND.
(A) T 39,020 (B) 39,040 (C) % 39,030 (D) 39,010

Divide 1460 in the ratio of 4 : 6.
1460 ©, 4 : 6 T OWTRITY ZNA.
(A) (584, 876) (B) (548, 867) (C) (584, 786) (D) 584, 768)

Which of the following diagrams indicates the best relation between Travellers,
Train and Bus ?

3ENT 03 Teasw W) TOIWEIFI, Tyo W) WA IWRAT  WOII FOWOTFB/IY,
RRWBIT 2

.(0)0o

Choose the word which is different from the rest ?

(A) Chicken (B) Snake (C) Swan (D) Crocodile
QNPT BBNYNOT afm&mﬁdm msmel 303,
(A) Boe® (B) To®) (C) o= (D) Rz

A, P, R, X, S and Z’ are sitting in a row. ‘S’ and Z’ are in the centre. ‘A’ and ‘P’ are
at the ends. R’is sitting to the left of ‘A’ Who is to the right of ‘P’ ?

A,P,R, X, S Z’ mowen %J%w%d ‘ST ‘Z’wac%dc?ﬁw%d, ‘A B P IS %@éoﬁa@ﬁ@bd
R- ‘AT QBN 33%6%6, P’T WONTE O30 &%w%d 2

(A) A B) X (C) S (D) Z

ARAER AR P.T.O.
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32.

33.

34.

If South-East becomes North, North-East becomes West and So on. What will
West become ?
(A) North-East (B) North-West (C) South-East (D) South-West

eﬁﬁoleodaa‘g) em:id ﬁﬂéﬁ%& é%mse@ w%m az@ﬂ%& et BNORWI TN a%sm@ o350
@@méﬁ 9
(A) T (B) 0305 (C) ereod (D) 03,

Which number will replace the question mark ?
o330 ﬁo&jéodsa @mﬁs—‘% aséclodaaia& wdmoﬁa:’ogd 2

18 24 18
12 30 16 40 45 27
6 8 ?
(A) 18 (B) 12 (C) 9 (D) 6

If A+B means A is the brother of B; AXB means A is the son of B; and A% B
means B is the daughter of A, then which of the following means M is the Maternal
Uncle of N ?

(A) M+OXN (B) M%OXN+P

(C) M+0O %N (D) None of these

A+B 2083 B8 3Xp¢TT A; AXB 008 B 300 A; 30 A % B 2003 AS &R B,
TOMOTT B IENTYNYY O30T M H0TT NS BeetsT=iowm a‘i)oa?:b:id ?

(A) M+OXxN (B) M%OXN+P

(C) M+0O % N (D) edT CBRRYTR ®Q

Instructions for Q.No. 35 to 38.

35.

36.

Choose an appropriate word from the options to suitably fill the blank in the
sentence below so that the sentences makes sense both gramatically and
contextually.

I saw a cows in the field.
(A) group (B) herd (C) swarm (D) flock
The grapes are now enough to be picked.

(A) ready (B) mature (C) ripe (D) advanced



37.

38.

39.

40.

41.

42.
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Success in this examination depends hardwork alone.

(A) at (B) over (C) for (D) on

My uncle decided to take and my sister to the market.

A) I (B) mine (C) me (D) myself

Fill in the blank with suitable preposition.
“Our life promises a lot pleasures and we must learn to enjoy it”.
(A)  with (B) for (C) of (D) at

Select the most appropriate synonym of the given word.
“BRIEF”
(A) Limited (B) Small (C) Little (D) Short

Select the most appropriate Antonym of the given word.
“ARTIFICIAL”
(A) Red (B) Natural (C) Truthful (D) Solid

Find the correctly spelt word.
(A) Efficient (B) Treatmeant (C) Beterment (D) Employd

Instruction for Q.No. 43 and 44.

43.

44,

45.

In each question below a sentence broken into five or six parts. Join these parts
to make a meaningful sentence. The correct order of parts is the answer.

1. left 2. the 3. house 4. he 5. suddenly
(A) 12435 (B) 21354 (C) 45123 (D) 52341

1. not 2. Hari 3. away 4. run 5. did

(A) 13542 (B) 35412 (C) 52431 (D) 25143

In the question below, there is a sentence of which some parts have been jumbled
up. Rearrange these parts which are labelled P, Q, R and S to produce the
correct sentence. Choose the proper sequence.

“l read an advertisement that said”-
P : posh, air conditioned
Q : gentleman of taste
R : are available for
S : fully furnished rooms
The proper sequence should be :
(A) PQRS (B) PSRQ (C) PSQR (D) SRPQ

ARAER AR P.T.O.
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Instructions for Q.No. 46 and 47.

In questions given below, out of four alternatives, choose the one which can be
substituted for the given word/sentence.

46. The study of Ancient Societies.
(A) Anthropology (B) Archaeology (C) History (D) Ethnology

4'7. A person of good understanding knowledge and reasoning power.
(A) Expert (B) Intellectual (C) Snob (D) Literate

48. Select the most appropriate meaning of the given idiom/phrase.
“To hit the nail right on the head”.
(A) To do the right thing
(B) To destroy one’s reputation
(C) To announce one’s fixed views

(D) To teach someone a lesson

49. Select the most appropriate meaning of the given idiom/phrase.
“To catch a tartar”.
(A) To trap wanted criminal with great difficulty
(B) To catch a dangerous person
(C) To meet with disaster

(D) To deal with a person who is more than one’s match

50. Identify the figure that completes the pattern.
BIRTOODT), TREF RRVAT G0N, MTVER.

? \k
N / \
Ky N B
(X) (1) (2) 3) (4)
(A) (1) B) (2) ) (3) (D) (4)

-00o0-
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SPACE FOR ROUGH WORK

ARAER AR P.T.O.
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SPACE FOR ROUGH WORK



